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Jquprouuly crauuh guund

(hwqup gpudGhpny)

= uyn pymy’
% ol a £nmotinujhG dwfuutiph gnpowrwywG nuuwlwupqiwG Z
SR 5 pwdhGGtiph, fudpliph L uubph, hGsutu Gl pynigtunwha o CGnuikip " i
E CBL E ¢ | owhuutiph mGntuwghnuyul nuuwlupqiwG hnnjudGiph 5- Jupswlwb pymek o 1}u1]1£1
wigwiniGbnp g pjog
1 21314 5 6 7 8 9
LLAHUUGLL BUUGR 3,039,049.0 2,785,489.0 253,560.0
2100|011 0] O EL%U;&I;[&;KS{;?IZ:CS;J;‘HShL 578,423.7 546,363.7 32,060.0
wjn pynud’
OptiGunhp L qnpownhp SwpdhGGtp, whnwlw junwywnnud,
21101 01| 1 | O |PhGwGuwywl L hwplywpinigtimmhG hwpwptipnypynGGtip, 565,424.3 533,364.3 32,060.0
wnpumwphl hwpupbtpmpymGGtp
nphg
2111) 01| 1 | 1 |OptGunhp L gnpownhp dwpdhGGhp,wytnwluwi Jjunwywpnid 565,424.3 533,364.3 32,060.0
wjn pynuf’
1. Gwpunjupiwl JwpdGh vpuwhuwlng 565,424.3 533,364.3 32,060.0
-UpluwwunnnGhph wpfuwwmwyuwpdtip L hwytjuwydwpltp 4111 307,645.0 307,645.0 -
lid“lllﬁgssmmpmﬁﬁhp, nnuwiwlwil fupwhuntundGtn b hwonmy 1112 30,7645 30,7645 )
-Unghwjujul wywhnynipjwb yGwpltp 4131 61,529.0 61,529.0 -
-EGtpqtimhly ownwjnipniGGtip 4212 17,400.0 17,400.0 -
-UnuiniGw) dwnwjnipjniGGtp 4213 6,516.3 6,516.3 -
-YQuuh dwnwjnipjniGGtp 4214 23,342.0 23,342.0 -
-Upnwuwhiwljuwl gnponunuiGtph qony dwfuubp 4222 7,000.0 7,000.0 -
-LwiwywngswjhG dwnwjnipyniGhtp 4232 1,920.0 1,920.0 -
-Stnujuunyjuiwl dwnwjnipniGitp 4234 864.2 864.2 -
-UwuGwghnwlwl dwnwjnipjmGGtp 4241 500.0 500.0 -
l;[;hfuljﬁluéﬁfgh L uwppwynpnuiGtiph pGpwghy Gnpngnid L 4252 14,000.0 14,000.0 )
-QGpuutiGyuluwyhG Gynptip L hwgniuwn 4261 11,153.3 11,153.3 -
-SpwGuwnpuuwjhG Gyniptp 4264 40,030.0 40,030.0 -
-UblGgunujhG L hwGpwjhG uGGnh Gyniptp 4267 6,000.0 6,000.0 -
-Mwnpumwnhp yGwplGbp 4823 500.0 500.0 -
-Uj dwfuutip 4861 4,200.0 4,200.0
- SpwluwynpuuwghG vwppwynpnudltn 5121 20,000.0 - 20,000.0
- Jwpswliwl vwppuynpnuiGtip 5122 12,060.0 - 12,060.0
2130({ 01 | 3 | O |(CGnhwGnip pGniyph SwnwinipymGGLp 4,999.4 4,999.4 -
nphg”
2131| 01| 3 | 1 [Velvwwnwhwadh Aunpbph/ gond plnhwGnip pGnyph 4,999.4 4,999.4 -
dwnwjnipniGhtp
wyjn pynuf’
1. Lunuwpughwlwul jugnmprul whmb, wlguwl
ownpwmipju G om GEmpnul Juqiulbpunnf 4,999.4 4,999.4 -
unnyhpwljud thwgnpmpim GGG,
-UptuwwnnnGiph wuwmwywndtip W hwybuydwpGbn 4111 3,796.7 3,796.7 -
-Unghwjuwl wywhnynipju yGwpGtp 4131 758.0 758.0 -
-EGtpgtinmhy dwnwynipymGGtp 4212 330.3 330.3 -




wyn pymd”

% s | a PimobtwmumhG dwiuubknh gnpownwywl nuuwyupgiwG %
£ =2 5 pwdhGGtph, fudpbph L nuubph, hGswbu Gwb pynigtumwjha © Canwskd
T |3 5| & | owhubph wimbuwghuwul guuwywpgiut hapwattph | 2 T wpswlwG pymet | PROTwIRG
w | < g pynigh
wiywGniiGbnp Z
1 213]4 5 6 7 8 9
-UnuiniGw) dwnwjnipjniGGtp 4213 144 14.4 -
-QnuutiGjuyujhG Gympbp L hwgniun 4261 100.0 100.0 -
2160| 01 | 6 | O (2bnhwlmp plnyph hwlpughl SwnwympimGGEp (wyy
8,000.0 8,000.0 -
nuubphl suyunnlwing)
nphg”
2161|101 | 6 | 1 [CGnhwGnip pGniyph hwlpwihG SwnwnipjniGGbp (w) nuubphG 8,000.0 8,000.0 )
sywwwnn)
wyn pynud’
1. hdmdGhp, hu unifGhp, nwunupuGh npnymdGaph L
Gbph nby JepupGGhs L Jonwpt npGh; 5,000.0 5,000.0 -
GhplyuyugGhhu vwhdw Gwd Jowpmuilh,
-Mupumuwnhp yGwpGtip 4823 5,000.0 5,000.0
2. Qmiph Ghunnduwnd] wi/m Gp wlghwl L
wbnblunynipjwl wpudunpdut hinn juwydwé JowpniiGhn 5000.0 5000.0 i
-UwubGwghnwywl ownwjnipjniGatp 4241 2,000.0 2,000.0
-Mupumuwnhp yGupGtip 4823 1,000.0 1,000.0
2200(02|( 0 f O MUCSNULNAMIF3NFL 4,820.0 4,820.0 -
wyn pynid”
2220( 02 2 | O [Pwnwpwghwywl wywmwywlnpjmb 2,000.0 2,000.0 -
nphg”
22211 02 2 [ 1 [Pwnwpwghwlwl wwymwwlinipynil 2,000.0 2,000.0 -
wyr pynud”
1. LPunupuighwlwl yyupwmwwGnipju Gl wowlgnipmi G 2,000.0 2,000.0 -
-Canhwnip pnyph wyp ownwnpyniGGtp 4239 1,000.0 1,000.0 -
-Chlptiph L yunnygGtiph pGpwghly Gnpngniud b ywhww Gnid 4251 1,000.0 1,000.0 -
2250\ 02 [ 5 | O | MupwywbnipimG (uy nuiubphl sujunnljwGng) 2,820.0 2,820.0 -
nphg®
22511 02| 5 [ 1 [MwpmnwwGnipymG (wy nuutphG syunljwtnng) 2,820.0 2,820.0 -
wjn pynd’
1. Qnpulnsh Juquwibpydulnp wowhgnipimG 2,820.0 2,820.0 -
-Qnyyph L uvwppuwynpniiGtph yupdwuwnipjmb 4216 1,800.0 1,800.0 -
-SpwGuwynpuwghG Gymphp 4264 1,020.0 1,020.0 -
2400|104 0| O SLSEUUUUL LU ULELNRMEBNFLLEN 270,000.0 270,000.0 -
wyn} pynud”
2450|104 | 5 | 0 [SpwGuwnpwn 270,000.0 270,000.0 -
nphg”
24511 04 [ 5 [ 1 [GwlGwwwphwjhG npwluynpn 270,000.0 270,000.0 -
wyr pynud”
1. Uupwpin-pnnGu 0wdlh yhpwbn 1 b wwhwyw Gnf 270,000.0 270,000.0 -
-Chlptiph L yunnygGtiph pGpwghly Gnpngnid b ywhww Gnid 4251 270,000.0 270,000.0 -
250005 0| O TeAUYU UhQUUUSC,h MUTSNULARME3NRL 1,097,001.1 1,097,001.1 -
wyn pynid”
25101 05( 1 | 0 [UnpwhwGnid 859,461.1 859,461.1 -
nphg”
25111 05| 1 | 1 [UnpwhwGmd 859,461.1 859,461.1 -
wyn pynud’
1. Uwhmwpwlwl swppmy 859,461.1 859,461.1 -
-UnuiniGw) dwnwjnipjniGGtp 4213 859,461.1 859,461.1 -
2560 05 | 6 | o |Cnewle Shounjuph wwzmupmnpyn (wj uutiphl 237,540.0 237,540.0 -

sujunnljwnn)

nphg’




wyn pymd”

z o PimobtwmumhG dwiuubknh gnpownwywl nuuwyupgiwG %
z = %“ 5 pwdhGGtph, fudpbnh L nwubph, hGswbu Guwb pynigbwmwhG o Canwskd
T |3 5| & | owhubph wimbuwghuwul guuwywpgiut hapwattph | 2 T wpswlwG pymet | PROTwIRG
7w | g pymet
wiywGniiGbnp Z
1 21314 5 6 7 8 9
2561 05| 6 | 1 [Crewlw vhewdwnh wuwwuwlnip)mG (w)) nuutphl 237,540.0 237,540.0 -
swwinjw(nn)
wyr pynud”
1. Qubws mumudplGbph wwhwwlGnd 200,000.0 200,000.0
-UnintGw| dwnwjnipjniGGp 4213 200,000.0 200,000.0 -
2. UfnnwhwGiwl b dhpwwnuqbpodwl ownwynipm G66p
2. UpnnwhwGdw( L showwnuqbpotw G ownwympim 66, 35,7604 35.760.4 }
[pbpunnhquighu/
-UnuiniGw) dwnwjnipjniGGtp 4213 35,760.4 35,760.4 -
4. wuwmululub gniquipnuGak; whupumy L 1779.6 1.779.6 )
ybpuGnpngni
-UnuiniGw) dwnwynipjniGGtp 4213 1,779.6 1,779.6 -
LLUHYULUTLUBRL ThLULULNMESAFL B UNUNFLUL
2600|106 0| O SUNUSOREE0EL 316,465.9 281,965.9 34,500.0
wyn pynid”
2640( 06 [ 4 | O [®nnngGhnh (UwWYnpmy 26,000.0 - 26,000.0
nphg”
26411 06 [ 4 [ 1 [®nnngGhph (nuwynpnud 26,000.0 - 26,000.0
wn} pynud’
1. Upwmwuphl imuwynpmprul gulgh hhdGwGnpngnid 26,000.0 - 26,000.0
- Chliptiph L phGmpyniGGtph juwhwwy Yepwlinpngnid 5113 26,000.0 - 26,000.0
PLliwjuwpwlwihl JhGwpupmpjwl L YniniGug
2660| 06 6 | O SumunipymGGaLn () nuwubphG swwnlwGnn) 290,465.9 281,965.9 8,500.0
nphg”
2661| 06 | 6 | 1 [CUwhwnuilwInG hGupuwpnpiw L yndnGuy 290,465.9 281,965.9 8,500.0
ownwynipjniGGtp (wy) puubphG swywwnlwing)
wy} pynud’
1. PuquwpGulwpuG 266pbph hwpp nwGppGbpf
1. RuquuipGulwpui pbGphph hupp mwGhpGh; 15,0000 15,0000 :
ybpwGnpngnif
-Clliptiph L YunnygGtph pGpwghy Gnpngnid b wwhuwjw Gnud 4251 15,000.0 15,000.0 -
2. PuqluplGwlwnul 2Llpbph pbp wiulhpGhph
2. PuquupGulupnub pkGpk bLp unulhpGh 15,0000 15,0000 }
Ybpwlnpngnid
-Clliptinh L YunnygGtph pGpwghy Gnpngnid b wwhuwjw Gnud 4251 15,000.0 15,000.0 -
3. Pwljuhl unupudpGh, wnbljupgnif 8,500.0 - 8,500.0
- Uy vbptGuGtp L vwppwynpnuiGhp 5129 8,500.0 - 8,500.0
6. PuquwpGwlumub pLGpk; wnbljupguwl w 251,965.9 251,965.9 )
upfumunwGpGhp
-UnipupnhwGbp ng whnwlwa (ng hwiw)GpwjhG) ny )
PhlwGuwlput uqiulbpunpgn GGtpht 4521 251,965.9 251,965.9
2800|108 0| O {ULAhUS, UCUUNR3E GUd ULNL 53,127.3 53,127.3 -
wyn} pynud”
2810|108 ( 1 | O |Swliqunp L uwynmnf ownwyynipyniGGhp 3,500.0 3,500.0 -
nphg”
2811( 08 [ 1 [ 1 [Qwlquunp L uwynpunh SwnwynipniGitnp 3,500.0 3,500.0 -
wyr pynud”
1. Uynmnujhl dhongupniGhph Juwqiwibpuynig 3,500.0 3,500.0 -
-Cnhwnp pGnyph w)p ownwympjniGGtp 4239 3,500.0 3,500.0 -
2820|108 | 2 | 0 [UpwympwjhG dwnwynipjmGGtn 49,627.3 49,627.3 -
nphg”
28211 08 | 2 | 1 [QpunupwlGbp 7,600.0 7,600.0 -
wyn pynud”
1. 9 wpnw Gwhl dwinw jmpm G6E; 7,600.0 7,600.0 -
-Unipuhnhwbp ng $hGwlumul yhnmwlwl (hwdw)ipuwjht) 4511 7.600.0 7.600.0 )
JuquwytpwnipjnGGtphG
2824 08 [ 2 | 4 (U vpwynipwyhl YuqiwybpwmpniGGtp 28,000.0 28,000.0 -
wyn pynid”
1. Dpwiynipwhl shongupnidGhph hpuljuGugnid 28,000.0 28,000.0 -




wyn pymd”

z o PimobtwmumhG dwiuubknh gnpownwywl nuuwyupgiwG %
z = %“ 5 pwdhGGtph, fudpbnh L nwubph, hGswbu Guwb pynigbwmwhG o Canwskd
T |3 5| & | owhubph wimbuwghuwul guuwywpgiut hapwattph | 2 T wpswlwG pymet | PROTwIRG
w | pymok
whywbnGhnp g
1 21314 5 6 7 8 9
-CGnhwnip pGnyyph wy) SwnwympiniGGtp 4239 28,000.0 28,000.0 -
28271 08| 2 | 7 <nywpdwbtph b YpwynypwihG wpdtipGiph yipwlwlqlinud L 14,0273 14,0273 )
wwhwwlnid
wn} pynud’
1. <nppwipdw G4, G Gn, 1 L ypuhww Gnid 14,027.3 14,027.3 -
-CGnhwnip pGnyph wy SwnwympiniGGtp 4239 14,027.3 14,027.3 -
2900|109 0| O YLrENFE3NML 634,600.0 447,600.0 187,000.0
wyn pymud”
2910|109 ( 1 | O [VwjuwnwpngulywG L mwppuwlwb pGnhwlmp Yppmpymb 411,600.0 327,600.0 84,000.0
nphg’
29111 09 1 | 1 JvwhwnypngulywG YppnipjmG 411,600.0 327,600.0 84,000.0
wy} pynud’
1. vwfuwnupngwlwl mumgnmyd 327,600.0 327,600.0 -
-Unipupnhwbp ng hwbuuub yhnmwwl (hwdw)ipujhG) 4511 327,600.0 327.600.0 )
JququwybpynmpnGGtphG
2. bufummuypngwlwl mumgdw uqiwibpuyding hwdwp )
\ulhnudtom anioh & bl 84,000.0 84,000.0
- Jwpswlwl vwppunpnuiGhn 5122 84,000.0 - 84,000.0
2950|109 [ 5 | 0 [Cuwm SwlhwpnulyGtph spuwuwlungynng YppoipjmG 120,000.0 120,000.0 -
nphg”
2951( 09 [ 5 [ 1 [Upmwnupnguiwl nuunhwpwlynipntl 120,000.0 120,000.0 -
wyr} pynud”
1. Unnmwnupnguilpul nuumpwpuiynipym G 120,000.0 120,000.0 -
-Unipupnhwbp ng hwluuub yhnwul (hwdw)lipwjhG) 4511 120,000.0 120,000.0 )
JuqiwybtpynipniGGaphG
2960| 09 | 6 | O |Uppmpjulp mpudwnminng odwlinuly wnuynpjmGGnp 103,000.0 - 103,000.0
nphg'
29611 09| 6 | 1 |Yppmipjwlp wpwiwnpynn odwlnul dwnwjnipjniGatp 103,000.0 - 103,000.0
wyn pynud’
1. bwnwnupngulwl hwunmwnmmpni666ph hhyGwlnpngniy 100,000.0 - 100,000.0
- Chlptiph U phGnipyniGGhph Juwhunw) yipwlnpngnid 5113 100,000.0 - 100,000.0
2. bufuwqowhl wpfuwunuGpGhp 3,000.0 - 3,000.0
- Lwluiwqowhbnwgnuuywb dwjuubp 5134 3,000.0 - 3,000.0
3000|110 0| O UnshuLuYUL NMUCSNULNRMEF3NML 84,611.0 84,611.0 -
wn} pynud’
3070l 10| 7| o Unghwjwlw i hwunl wpmnGmpiniGatp (wy guutphG 58,980.0 58,980.0 )
suunnbw(nn)
nphg”
3071 10| 7 | 1 UnghwjwlwG hwwnnl wpnnGmpymGGbp (w)) nuubphG 58.980.0 58.980.0 )
sywww(nn)
wyn pynid”
2. <wpuquin sniGbgnn wldwlg L unghwpwbu wlwuuhn
GunwlhpGbph hwdwp hninwpluynpnip w6 Juquwybpuyny 25000 2:500.0 i
-CGnhwnip pnyph w)p ownwympynGGtp 4239 2,500.0 2,500.0
3. Unghwywwhbu wlwywhny pGunmGhpGhphG winfwlmli
3. Unghuwyuybu wlwuywhny pGnwGhpGbphl winGwilju G 28,480.0 28,480.0 :
optphl wowlgnipma
-UblGgunujhG L hwGpwjhG uGGnh Gyniptp 4267 9,000.0 9,000.0
~{wwnnty GuwwmwluwyhG wy Gynipbp 4269 10,000.0 10,000.0
-Uj1 GyywuwnmGbp pynigtihg 4729 9,480.0 9,480.0
4. Unghwjwwbiv wwwwhny wGdwlg wowlignipni G 26,800.0 26,800.0 -
-Qnyph L vwppwynpnudGhph Jupdwlwnipynil 4216 4,800.0 4,800.0
-Uj1 GyuwuwnGhp pynigtihg 4729 22,000.0 22,000.0




wyn pymd”

z o PimobtwmumhG dwiuubknh gnpownwywl nuuwyupgiwG %
z = %“ 5 pwdhGGtph, fudpbnh L nwubph, hGswbu Guwb pynigbwmwhG o Canwskd
T |3 5| & | owhubph wimbuwghuwul guuwywpgiut hapwattph | 2 T wpswlwG pymet | PROTwIRG
w | pymok
whywbnGhnp g
1 21314 5 6 7 8 9
5. Swuwpuulwl juquwlbpynp m G66pha wowlhgnipin G 1,200.0 1,200.0 -
-LyhpwwnympjniGGtp wy) Qwhnyp shtnwwylinnn
uqiulbpuntpgmGGhpht 4819 1,200.0 1,200.0
3090| 10 [ 9 | 0 (UnghwjwYywG wywpmnuwimpm (wj] puubphl syywmlwbnn) 25,631.0 25,631.0 -
nphg”
3091( 10 9 [ 1 [Unghwjuywl wuwpwmuywlmpymb (wj) nuubphl supuunyuinn) 25,631.0 25,631.0 -
wn} pynud’
1. UnghwjwipuG oglimp G owpwmpnGGaph
oniGbmpul juquuybpymy (upunghpwljud 25,631.0 25,631.0 -
(hwgnpmipimGGhp)
-UpuwwnnnGhph wpluwmwywpdtip b hwybuydwplbp 4111 20,151.6 20,151.6 -
-Unghwjuwl wywhnynipjwb yGwpGhp 4131 4,094.8 4,094.8 -
-EGtpqtimhy ownwjympyniGGtp 4212 535.6 535.6 -
-Unini(w) ownwjnipyniGhtp 4213 25.0 25.0 -
-YQuugh dwnwnipjniGGtp 4214 334.0 334.0 -
-QnuutiGyuyuyh Gyniptip L hwgniuwn 4261 190.0 190.0 -
-SpwGuynpunwghG Gymphp 4264 300.0 300.0 -




